FHRI0FEE FRFET V7 —MER (£ TE]

(1) FRDFEERIZTONT
1. BEOREFIHOAYPTL ANDNTEL,

ETH

HEY

%5,§\5 %51%\5 IEIEI\bﬁlI\ IEEI\*)@L\ %@%
1EAGE 28% 56% 14% 2% 0%
A 14% 65% 17% 2% 1%
SFEAERE 20% 61% 16% 3% 0%
EREE 21% 61% 16% 3% 0%
2. S DFEEHIMYPTL AL DNTE,
ETE - = HEY N
1EAGE 50% 39% 8% 3% 0%
2FAE 16% 51% 24Y% 8% 1%
SFEAE 24% 52% 20% 4% 0%
SRAER 29% 48% 17% 5% 0%
. HEFDEBEFIDOLMPFTL ALDNTE,
ETH == HEY B e ks
%5,%5‘]\5 %jl&\j :EEI\*)@L\ l&\btill\ %@ (=]
1EARE 17% 47% 27% 9% 0%
2FEALE 12% 34% 36% 17% 1%
SEAE 24% 45Y% 16% 15% 0%
ERESRE 18% 42% 27% 14% 0%
4. BEOEZEIHLMAPTL AR DNTE,
ETE - = HFEY N
1E4E 4 11% 45% 35% 9% 0%
2FHERE 14% 49% 29% 7% 1%
SEALE 12% 57% 29% 3% 0%
ERERE 12% 50% 31% 6% 0%
5. REEDFBEEIHOMYPTL ANDNTES,
o L i
s | 2385 I@ﬁ’i{\ Ehil | mEs
1EHEHE 12% 30% 36% 21% 1%
2FEHERE 15% 45Y% 27% 12% 1%
SEAE 26% 55% 16% 3% 0%
EREE 18% 44% 26% 12% 1%
6. BEDFZEEHMYPTL AL DNTE,
ETE - = HFEY N
2585 585 B Bbhi % [O] &
1EHELHE 26% 58% 12% 4% 0%
2EALE 20% 55% 19% 5% 1%
SELERE 25% 60% 12% 3% 0%
SRELE 24% 58% 14% 4% 0%
1. EMOTFEFDODMYOTL AN DNTES,
- L .
S| wsms | B0, | monw | mEm
1EELHE 22% 56% 18% 4% 0%
2F A 16% 56% 23% 4% 1%
SELERE 21% 60% 16% 3% 0%
2RELE 20% 57% 19% 4% 0%




8. REAEBDEREFIHLAYDLTL, ANDNTE,

L
S wsms | BE0 | monw | mEs
1EARE 29% 60% 10% 2% 0%
2FEAERE 24% 49% 19% 7% 1%
SEAE 29% 57% 11% 3% 0%
SRAERE 27% 55% 13% 4% 0%

9. RMDBR (T LMY T L ANDNTES,

- - L
s | B3B3 | 230 | Bony | mEs
1EARE 16% 59% 22% 3% 0%
2F 5 19% 55% 20% 4% 1%
SEARE 23% 59% 14% 3% 1%
SRAER 20% 58% 18% 4% 1%

10. REMDEBEEEF LMY T L ANDNTES,
ETH HEY

1EAGE 20% 63% 12% 5% 0%
2FEAEE 17% 64% 16% 2% 1%
SFEARE 21% 66% 10% 2% 1%
2RELE 19% 64% 13% 3% 1%
) (2) FRAEFEITONT
1. ERIZITLDHZELLY,
ETE - = HEY N
1EERE 22% 49Y% 19% 9% 1%
2FHERE 26% 46% 19% 9% 1%
SEAEE 28% 48% 16% 8% 0%
ERERE 25% 48Y% 18% 9% 1%

2. HDARYEPOADID(KHFL)  HEDIL—IVEEICDWTEAITENTES,

L
foms | B3B3 | B30 | Bouy | mEs
1EARE 20% 62% 15% 2% 1%
2FEHERE 17% 59% 22% 1% 1%
SEAE 25% 64% 9% 2% 0%
SRERE 21% 62% 15% 2% 0%

3 ERITFERLAICLTLS,

ETE - = L .
aas | %383 ,@iﬁ;}u Epil | mEs
1EEHE 15% 36% 31% 15% 2%
2EALE 33% 37% 20% 8% 1%
SELERE 26% 54% 14% 5% 1%
SRELE 25% 43% 22% 10% 1%
4. SFEACEEEBOEEIC, EEICHENTES,
&T - = L ot
%5;5 F585 ,E.E'?’)%‘J)L\ Bbhiy RS
1EELHE 5% 27% 43% 23% 2%
2EERE 12% 36% 29% 22% 1%
SELERE 14% 50% 24% 11% 1%
2RELE 11% 38% 32% 19% 1%




5. &R; -
BEHICAESESERYIBA TS

(o]

5] . —
5m5 | 85 ”
TEER
22@2 40% 39% Bhuu | OB | REE
= | 36% o -
o 1%
%ﬁ?ﬁi 28% o - T G
% FE 359 0° 11% 18¢ 6%
37% 10% o S
6. IREROBRIFENIC = :
71N 7Iv 7 I_J:(Hyb)“ 3 5/0
ETH tf/‘/n\%% 5
o5 | T8 | £
1 7E 53] i
zgig 23% 51% Bon | BPEL | RER
T amTs 57" S0 2
AR 5% = 2 i
REGE | 25% 6% = 2% i
; 16% ° L
1 R OB MG = :
: E . FROD; s =
s *x;)/kiwa‘—vj—gc(,\éo
2585 585 =Y
TEAR 2 B | mbun | BP9
E [ 44y mhh | BPEL | REE
SEEE 49" REIS
éff*iﬁ 46% 51% e 2% B
AR 43% 49% 2 2 B
8 20 | = s n
. =] - < 0
BOHEFICSASHLWEEEL =
T4, . EVPHNEONTES
X, z585 | 83 2% | B °
TEEEL 2o | o  E A i M
ZESE 51% o 1
FEGE | 36w ° 12% : o
Ty : 54 o
XE{E 320 0 4% 0 4%
% D 2)
55% 5 h 3%
9. (% T : = 0
EETEBRELHLS =
%e‘:‘C’E; % =T
5m5 | 83 )
TEER
= | 50% ok -
o 3%
%ﬁiﬁ 46% i > 2. i
FEfRE | 53% m 8% ) n
34% = Sl 4%
10, it =
SEF EFEOIRAIFYEEDT 0 *
ETH =Y, BRELENTL
Al e z3m35 | D% —
zﬁgfi_ 15% 50% Bl BB | REE
S 42 i 10% -
£k 189 - 27% ) o
SIS : 28 =
REGE ] 18% ° 18% : B
50% 23% = 3h
1 ~, 7%
1SR, WD ORRBNEE . ] | =
<t 28 B ESTNSEE, +5
T iw 2585 | B3 A ARBELT AN
TEEE] 1o | BouL | BPUL | RES
3 Eg—cfﬂz 20% 44‘; 20% 15% -
el w D o : %
T TE % 534 8
ZELE | 10% ° 19% : B
: 49% ei
; 21% o% =L
; 3%




12. X IF AFEDOBLES=1TEICL T, BaLGEEL TS,
ETH - m = HEY N ke
%BJEL‘E,\a %OIEL‘EAO IEQE,\*)UL\ IEILE-\*)fd‘L\ %@ =]
1EELHE 24% 51% 15% 9% 1%
2F A 43% 41% 9% 3% 4%
SELERE 27% 52% 12% 5% 4%
2RELE 31% 48% 12% 6% 3%
() RELEFIZDNT
1. BRI E WV =WV ETICREETLS,
ETE - = HEY -
-~ -~ J[ERY J[ERY 7‘“ # %
2585 | 83 | mpn | BPEW A
1EAGE 57% 18% 12% 12% 1%
2FAE 50% 27% 8% 12% 4%
SFEAE 41% 26% 19% 10% 3%
SRELE 49% 24% 13% 12% 3%
2. WIZEW=WM1BETIZETLNS,
ETH == HEY -
~ = 2 \ 55¥ oY A EE RS
F585 TIE Bbhi Ol =
1EARE 33% 24% 18% 23% 1%
2F A F 22% 19% 23Y% 31% 5%
SEAE 12% 26% 25% 34% 3%
ERESRE 22% 23% 22% 30% 3%
. EHCHRIINT BRNTHLERT D,
ETE - = HFEY -
= = 5 B PR
7585 | 80 | mpm | BPE A
1E4E 4 67% 17% 9% 6% 2%
2FHERE 66% 20% 8% 1% 4%
SEAEE 58% 26% 8% 5% 3%
ERERE 63% 21% 8% 4% 3%
4 9BIE. FWV-ULWRIEEBRTULNS,
ETH - m = HEY N ks
2585 585 PR BEbhizy o)
1A 60% 23% 9% 5% 2%
2FEHERE 56% 32% 4% 2% 5%
SEAE 45% 34% 10% 7% 4%
ERESRE 53% 30% 8% 5% 4%
5. FENREF. XIHIHICERT D,
ETE - = HFEY -
= 5 B PR
7585 | T8I | mpm | BPEL B
1EHELHE 36% 24% 24% 15% 2%
2EALE 25% 29% 26% 15% 5%
SELERE 29% 35% 21% 12% 3%
SRERE 30% 29% 24% 14% 3%
6. BREITIWNT T B,
ETH - m = HEY . e
2585 F585 [TERNN Bbhiy RS
1EELHE 30% 45% 19% 5% 2%
2F A 33% 39% 19% 5% 4%
SELERE 37% 47% 10% 3% 3%
2RELE 33% 43% 16% 4% 3%




1. REFE(X, 602 UELTWS, (BEDEL

o L i
£ e | B3 | monw | sEs
1EAGE 11% 21% 40% 26% 2%
2F A 9% 16% 33% 38% 4%
SELERE 13% 34% 32% 18% 4%
2RELE 11% 24% 35% 27% 3%
8. TLEIF2BMLLE BALy, (CEA D)
ETH -\ = HFEY N
2585 585 B Bbhi %[O &
1EHELHE 15% 26% 24% 34% 1%
2EALE 12% 22% 28% 34% 4%
SELERE 26% 34% 22% 14% 4%
SRERE 18% 27% 25% 27% 3%
9. REBLXVIGEESEIZLENS, BEEIEIZLDAITTLNS,
ETH R HEY N .
1EAGE 6% 20% 39% 34% 1%
2FEAEE 4% 14% 32% 45% 4%
SEALE 9% 27% 27% 31% 5%
2RELE 6% 21% 32% 37% 4%
(4) ZDith
1. BR(ZFEH>TLND,
(&L AR+ %[0 &
1EAERE 37% 61% 1%
2FHERE 47% 49% 49%
SELERE 73% 23% 5%
ERERE 53% 449 4%
2. BN ERDETEEEEFE > TS,
(&L AYAY1 o] &
1A 84% 15% 2%
2EALE 71% 24% 5%
SEAE 84% 12% 4%
ERESRE 79% 17% 4%




